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1. Draw an 
 of measure 
 such that 


 and 
 Through 

∠BAC 500

AB = 5 cm AC = 7 cm. C

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vNKLJ3MfPnar


draw a line parallel to 
 and through 

draw a line parallel to AC, intersecting
 each

other at 
Measure 

Watch Video Solution

AB B

D. BD and CD.

2. Draw a line 
 . Draw another line
 parallel

to 
at a distance of 3 cm from it.

Watch Video Solution

 PQ

PQ

https://dl.doubtnut.com/l/_vNKLJ3MfPnar
https://dl.doubtnut.com/l/_G11273pfTh3q


3. Take any three
non-collinear points 

and draw 
 . Through each vertex of
 the

triangle, draw a line parallel to the opposite

side.

Watch Video Solution

A, B, C

 ABC

4. Draw two parallel lines at
 a distance 5 cm

apart.

Watch Video Solution

https://dl.doubtnut.com/l/_Dr0aBuyD8Z2S
https://dl.doubtnut.com/l/_rXIUCQLQ8brT
https://dl.doubtnut.com/l/_VsRdJvaZ4rV7


5. Construct a triangle 
 if the lengths of

its sides are given by


and 

Watch Video Solution

ABC

AB = 6 cm,  BC = 7 cm AC = 5 cm.

6. Draw 
 in which 

Also, draw the perpendicular bisector of 

Watch Video Solution

ABC

AB = 4. 5 cm,  BC = 5 cm and CA = 6 cm.

BC.

https://dl.doubtnut.com/l/_VsRdJvaZ4rV7
https://dl.doubtnut.com/l/_fOOhxSpM84ZQ
https://dl.doubtnut.com/l/_iFY29j9JoGsK


7. Draw 
 in which 
 . 


 and 
 Also, draw

perpendicular bisector of side 
.

Watch Video Solution

ABC AB = 5 cm

BC = 6 cm CA = 7 cm.

BC

8. Draw 
 in which 
 , 


 and 
 Also, draw the

bisector of 
.

Watch Video Solution

PQR PQ = 3 cm

QR = 4 cm RP = 5 cm.

∠Q

https://dl.doubtnut.com/l/_iFY29j9JoGsK
https://dl.doubtnut.com/l/_S7pIvt4IEohG


9. Draw an equilateral
 triangle one of whose

sides is of length 

Watch Video Solution

7 cm.

10. Draw a triangle whose
sides are of lengths


Draw the perpendicular

bisector of the
largest side.

Watch Video Solution

4 cm,  5 cm and 7 cm.

https://dl.doubtnut.com/l/_Zyoq4ClKkKzW
https://dl.doubtnut.com/l/_wjDPtzv8uH2M


11. Draw a triangle 
 with 


 and 

Using ruler and compass alone, draw (i) the

bisector 
of 
 and (ii)
 perpendicular 

from 
on 
Measure 

Watch Video Solution

ABC

AB = 6 cm,  BC = 7 cm CA = 8 cm.

AD  ∠A AL

A BC. LAD.

12. Draw 
 such that 

and 
Measure

Watch Video Solution

DEF DE = DF = 4 cm

EF = 6 cm. ∠E  and ∠F .

https://dl.doubtnut.com/l/_CMe57jlHQqjE
https://dl.doubtnut.com/l/_8Nzmi03qYBoX


13. Draw any triangle 
 . Bisect side 
at 


 . Through 
 , draw a line parallel to 
 ,

meeting 
in 
. Measure 
and 
.

Watch Video Solution

ABC AB

D D BC

AC E AE EC

14. Construct 
 in which 

Watch Video Solution

ABC

∠B = 600,  AB = 5cm and BC = 6cm.

https://dl.doubtnut.com/l/_8Nzmi03qYBoX
https://dl.doubtnut.com/l/_sbeGhEzVPX8c
https://dl.doubtnut.com/l/_IEURbsRJyyPp
https://dl.doubtnut.com/l/_4ENwBYOjgmXB


15. Draw a triangle 
 with 


 and


 Also draw a perpendicular from 


on 
.

Watch Video Solution

ABC

BC = 3. 2 cm,   AB = 3. 6 cm

 ∠B = 1200.

A BC

16. Draw 
 in which 



and

Watch Video Solution

ABC AB = 3 cm,

BC = 5 cm ∠B = 700.

https://dl.doubtnut.com/l/_4ENwBYOjgmXB
https://dl.doubtnut.com/l/_auFmE8vyQ8BG


17. Draw 
 in which 



and 
Measure 

Watch Video Solution

ABC ∠A = 700,

AB = 4 cm AC = 6 cm. BC.

18. Draw an isosceles triangle
 in which each of

the equal sides is of length 3 cm and the angle

between them
is

Watch Video Solution

450.

https://dl.doubtnut.com/l/_VvZrHYyB4jy4
https://dl.doubtnut.com/l/_WguzAQYsjRfa


19. Draw 
 in which 


 Measure 

Watch Video Solution

ABC

∠A = 1200,  AB = AC = 3cm.

∠B and ∠C.

20. Draw 
 in which 
 and 

Watch Video Solution

ABC ∠C = 900

AC = BC = 4 cm.

https://dl.doubtnut.com/l/_hkTdIqfJq75o
https://dl.doubtnut.com/l/_DvaMNKEJor6C


21. Draw a triangle 
 in which 


 and 

Also, draw a perpendicular from 
on 

Watch Video Solution

ABC

BC = 4 cm,  AB = 3 cm ∠B = 450.

A BC.

22. Draw a triangle 
 with 



 and 
 Also, draw the

bisector of angles 
 and 
 of the triangle,

meeting in a point 
. Measure

Watch Video Solution

ABC AB = 3 cm,

BC = 4 cm ∠B = 600.

C A

O ∠COA.

https://dl.doubtnut.com/l/_nQB1sH17D2do
https://dl.doubtnut.com/l/_L8vDYWo1nbU2


23. draw 
 in which 

Measure 

Watch Video Solution

ABC

BC = 6 cm, ∠B = 350 and ∠C = 1000.

∠A.

24. Draw a triangle 
 in which 

Watch Video Solution

ABC

BC = 5. 2 cm,  ∠B = 600 and ∠A = 1000.

https://dl.doubtnut.com/l/_L8vDYWo1nbU2
https://dl.doubtnut.com/l/_sBcXxb7eG0Vx
https://dl.doubtnut.com/l/_kE5H3XKsWPqy
https://dl.doubtnut.com/l/_rWnsQUzYZnhH


25. Construct 
 in which 


and 

Watch Video Solution

ABC

BC = 4 cm,  ∠B = 500 ∠C = 700.

26. Draw 
 in which 


and

Watch Video Solution

ABC

BC = 8 cm,  ∠B = 500  ∠A = 500.

27. Draw 
 in which 

and 
 Draw the perpendicular

PQR ∠Q = 800, ∠R = 550

 QR = 4. 5 cm.

https://dl.doubtnut.com/l/_rWnsQUzYZnhH
https://dl.doubtnut.com/l/_0Gh5WYKg5XHY
https://dl.doubtnut.com/l/_A4tTZb2FJkYT


bisector of side 

Watch Video Solution

QR.

28. Construct 
 in which 

Watch Video Solution

ABC

AB = 6. 4 cm,  ∠A = 450 and ∠B = 600.

29. Draw 
 in which 

Watch Video Solution

ABC

AC = 6 cm,  ∠A = 900 and ∠B = 600.

https://dl.doubtnut.com/l/_A4tTZb2FJkYT
https://dl.doubtnut.com/l/_dM8hj85T7aX1
https://dl.doubtnut.com/l/_WjQbRY4JZwoW


30. Draw triangle 
with 
a right angle, 


and

Watch Video Solution

ABC ∠C

AB = 6. 2 cm  BC = 4. 5 cm.

31. Draw a right triangle
having hypotenuse of

length 
 and one of the acute angles

of measure 

Watch Video Solution

5. 4 cm,

600.

https://dl.doubtnut.com/l/_WjQbRY4JZwoW
https://dl.doubtnut.com/l/_hS1dJUsAUgRq
https://dl.doubtnut.com/l/_Chs5Ql6oAqN4
https://dl.doubtnut.com/l/_RXn3E3ZrcnYt


32. Draw a right triangle with
 hypotenuse of

length 
and one side of length 

Watch Video Solution

5 cm 4 cm.

33. Draw a right triangle
whose hypotenuse is

of length 
 and one side is of length

Watch Video Solution

4 cm

2. 5 cm.

https://dl.doubtnut.com/l/_RXn3E3ZrcnYt
https://dl.doubtnut.com/l/_oGpmD8WcTFnG


34. Draw a right triangle
having hypotenuse of

length 
 and one of the acute angles

of measure

Watch Video Solution

5. 4 cm,

300.

35. Construct a right triangle
 
 in which 


 
 and

Watch Video Solution

ABC

AB = 5. 8 cm, BC = 4. 5 cm

 ∠C = 900.

https://dl.doubtnut.com/l/_lYe9DvhXtsDI
https://dl.doubtnut.com/l/_e1mQ8pbDAgAp
https://dl.doubtnut.com/l/_iNwjyypzxFD5


36. Construct a right
 triangle, right angled at


 in which 
 and 

Watch Video Solution

C AB = 5. 2\ cm

BC = 4. 6 cm.

https://dl.doubtnut.com/l/_iNwjyypzxFD5

